 (
oz
) (
You can convert, or change, from one unit of weight to another. Look
at the exercise below. You can use the four-step plan to help you solve this exercise.
) (
Reteach
) (
1 pound (lb) = 16 ounces (oz)
1 ton (T)
 
= 2,000 pounds (lb)
) (
To check, convert from ounces to pounds.
96 ÷ 16 = 6
 
) (
Check
) (
6 × 16 = 96 oz
There are 96 ounces in 6 pounds
) (
Solve
) (
You are going from a bigger unit to a smaller unit. So, multiply.
There are 16 ounces in a pound, so multiply by 
16.
) (
Plan
) (
You must convert 6 pounds to ounces.
) (
Understand
) (
Grade 4
 
•
 
Chapter 11
 
Customary Measurement
) (
92
) (
8. 
3 T =
oz
) (
5 T =
lb
) (
7.
) (
6. 
2 T =
lb
) (
8 lb =
oz
) (
5.
) (
4. 
10 pounds =
ounces
) (
3 T =
lb
) (
3.
) (
2. 
1 T =
oz
) (
3 lb =
oz
) (
1.
) (
Complete each conversion.
) (
Find how many ounces are equal to 6 pounds. 6 lb =
) (
Convert Customary Units of Weight
) (
Lesson 6
) (
Name
 
 
Date
 
)

















 (
 3R22
1
) (
 3R22
1
)


 (
 3R22
1
) (
 3R22
1
) (
 3R22
1
) (
 3R22
1
) (
 3R22
1
) (
 3R22
1
)	
